FHFES4ABEFRARKRERVARAILERERIKNE

ER27F98 5 (B FETENIHEELIHES
FAEEES 4RI AIKR
= H =[] H
=5l X5 BI=R | fIEE —H¥ — B T
%5 % gfjﬁﬁ
4 =
s A
F it 305 13 13 0
REHR—IL 23
XA 122 5 5 o||
= Fit 458 20 20 0
THFHE 23
XA 170 7 5 2
Fit 488 21 21 0
. [ TEREE 23
& A 99 4 4 o||
) Fiit 1,251 54 54 0
INE
XA 391 16 14 2
£ & =E 8 63 8 9 A1
- 8 £ =E 23 582 25 25 0
e OB O=E 23 4,460 194 185 9
Oy — = 23 4,449 193 186 7
L
& O E 23 753 33 31 2
7\ it 10,307 453 436 17
=) &t 11,949 523 504 19

EREEE UL EER AL ELERRR

= A

X £ X5 _
K5 ESmEH
FEE- o8 RELBR 18
Hh>F 7 nH RELGR 19
AIAIILTILT RELGR 14
FTLOORDYDT RELGR 15
BREI VST = 30
CESEREHE =R 17
RERLHERE =fE 13




